

ELR DAR Practice Sheet 2
Answers

NAME 


1.  ELR ( Environmental Lapse Rate ) – drop in temperature as you move up in the atmosphere. 

(1oC / 160m) or (.625oC / 100m)
2. DAR ( Dry Adiabatic Rate ) -  drop in temperature as air rises in the atmosphere



(1oC / 100m)
3. MAR ( Moist Adiabatic Rate ) – drop in temperature as air at its dew point rises in the atmosphere.
(.6oC / 100m)
4. DPD ( Dew Point Depression ) – drop in the dew point as you move up in the atmosphere.

(.2oC / 100m)



SHOW YOUR WORK!!!!!!!!!!!!!!!!!
If you have questions on how to do any of these, COME AND SEE ME!!!!!
1. What is the temperature at 1100 m, if it is 7o C at 200 m?

1.375oC
2. What is the temperature at 2800 m, if it is 14o C at 350 m?

-1.3 oC
3. What is the temperature at 4200 m, if it is 4o C at 700 m? 

-17.875 oC
4. If a parcel of air rises 3800m and a cloud started forming after1400 m, what would the temperature be at the top of the cloud if it was 11oC at ground level?

-17.4 oC
5. The temperature of a parcel of air is 12o C, what is it after rising 2450 m, if a cloud started forming at 1200m?

-7.5 oC
6. The temperature of a parcel of air is 32o C, what is it after rising 4550 m, if a cloud started forming at 2200m?
17.9 oC
7. How high will a parcel of air rise if it is 16oC and the surrounding air is 7oC?
2400 m
8. How high will a parcel of air rise if it is 23oC and the surrounding air is 16oC?

1867 m
9. A parcel of air is at a temperature of 20o C at sea level and the surrounding air is at a temperature of 17 C, how high will the parcel of air rise?

800 m
10. A parcel of air is at a temperature of 24o C and the dew point is 22o C, at what altitude will clouds form?
250 m
11. A parcel of air is at a temperature of 14o C and the dew point is 11o C, at what altitude will clouds form?
375 m
12. A parcel of air is at a temperature of 18o C and the dew point is 16.5o C, at what altitude will clouds form?

187.5 m
13. A parcel of air is at a temperature of 24o C and the surrounding air is 13o C. If the dew point of the parcel of air is 16o C, will the parcel of air form clouds, if so, at what elevation?

Stops rising at 2933 m
Clouds at 1000 m

14. The temperature of the air is 8oC. A parcel of air is heated to 14oC and its dew point is 9oC. At what level will clouds form if at all?

Stops rising at 1600 m
Clouds would form at 2500 m, but the air stops rising before that, so no clouds
15. You went skiing for the day in the mountains and it started snowing pretty heavily. You are at an elevation of 4000m. You live back in Denver at an elevation of 1900m. You are worried what the roads are going to be like by the time you get home. If the temperature where you are is -6oC, will it be snowing or raining at your house? raining
